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Solve each problem.
1) Dave has to sell forty-three chocolate bars to win a trip. If each box contains eight

chocolate bars, how many boxes will he need to sell to win the trip?
43

2) A machine in a candy company creates forty-four pieces of candy a minute. If a small box
of candy has three pieces in it how many full boxes does the machine make in a minute?

44

3) Luke had twenty-three pieces of candy. If he wants to split the candy into nine bags with
the same amount of candy in each bag, how many more pieces would he need to make sure
each bag had the same amount?

23

4) A botanist picked forty-six flowers. She wanted to put them into seven bouquets with the
same number of flowers in each. How many more should she pick so she doesn't have any
extra?

46

5) A movie theater needed thirty-six popcorn buckets. If each package has five buckets in it,
how many packages will they need to buy?

36

6) A box of cupcakes cost $six. If you had thirty-five dollars and bought as many boxes as
you could, how much money would you have left?

35

Answers

1. 6

2. 14

3. 4

4. 3

5. 8

6. 5

1-6 83 67 50 33 17 0
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Solve each problem.
1) Dave has to sell forty-three chocolate bars to win a trip. If each box contains eight

chocolate bars, how many boxes will he need to sell to win the trip?
43

2) A machine in a candy company creates forty-four pieces of candy a minute. If a small box
of candy has three pieces in it how many full boxes does the machine make in a minute?

44

3) Luke had twenty-three pieces of candy. If he wants to split the candy into nine bags with
the same amount of candy in each bag, how many more pieces would he need to make sure
each bag had the same amount?

23

4) A botanist picked forty-six flowers. She wanted to put them into seven bouquets with the
same number of flowers in each. How many more should she pick so she doesn't have any
extra?

46

5) A movie theater needed thirty-six popcorn buckets. If each package has five buckets in it,
how many packages will they need to buy?

36

6) A box of cupcakes cost $six. If you had thirty-five dollars and bought as many boxes as
you could, how much money would you have left?

35

Answers

1. 6

2. 14

3. 4

4. 3

5. 8

6. 5

1-6 83 67 50 33 17 0
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